
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษสว่น ทศนยิม ลําดบัของการดําเนนิการ

3.8 + + 4 × 4.1 =
2
3

− 6 × 3.9 ÷ 2 − 3 × 2.5 =
2
1

5.5 − 2.9 + 4 × =
5
2

+ + 2 × 5.7 =
3
2

2
1

+ 2.2 + 4 × 4.1 =
5
1

+ × 2 + 6 × 5.5 ÷ 3 =
6
1

3
1

4.5 − × 5 − 5.4 =
3
1 5.5 − 20 × 4.6 ÷ 4 + 3 × 2.1 =

3.2 + 5.7 × 4 + 2.1 = − 3.5 × 2 − 10 × ÷ 2 =
2
1

5
1
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษสว่น ทศนยิม ลําดบัของการดําเนนิการ

3.8 + + 4 × 4.1 = = 21
2
3

10
217

10
7

− 6 × 3.9 ÷ 2 − 3 × 2.5 = (− ) = (−18 )
2
1

10
187

10
7

5.5 − 2.9 + 4 × = = 4
5
2

5
21

5
1

+ + 2 × 5.7 = = 12
3
2

2
1

30
377

30
17

+ 2.2 + 4 × 4.1 = = 18
5
1

5
94

5
4

+ × 2 + 6 × 5.5 ÷ 3 = = 11
6
1

3
1

6
71

6
5

4.5 − × 5 − 5.4 = (− ) = (−2 )
3
1

30
77

30
17

5.5 − 20 × 4.6 ÷ 4 + 3 × 2.1 = (− ) = (−11 )
5
56

5
1

3.2 + 5.7 × 4 + 2.1 = = 28
10
281

10
1

− 3.5 × 2 − 10 × ÷ 2 = (− ) = (−7 )
2
1

5
1

2
15

2
1
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